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Date: (08/08/2022)
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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.

Q.1

Q.2

Q.3

Answer any Six out of Ten. (2 Marks Each)
. What is TOM?
. Differentiate between kinetics & kinematics.
. Define kinematic link.
. Give examples of sliding pair and spherical pair.
. Define inversion. List the inversions of four bar chain mechanism.
. Define cam. State the functions of cam.
. Enlist various types of cam.
. Enlist various types of followers.
. Define kinematic chain and mechanism.
10. Write different applications of cam.
A) Compare lower pair with higher pair with example.
OR
A) Classify kinematic pair & explain any one with neat sketch.
B) Sketch and explain any two inversions of a four bar chain.
OR
B) List the inversions of four bar chain mechanism and explain any one.
C) Draw neat Sketch of any one inversions of a slider crank mechanism.
OR
C) Explain working of beam engine with neat sketch.
D) Explain working of withworth quick return motion mechanism with neat sketch.
OR
D) List types of types of constrained motion and explain any one with neat sketch.
A) Explain various types of followers with a neat sketch.
OR
A) Enlist various types of cam. Draw their diagrams.
B) Draw the displacement diagram for simple harmonic motion (SHM) for knife edge follower.
OR
B) Draw the displacement diagram for uniform velocity for knife edge follower.
C) Draw the displacement diagram for disc cam and knife edge follower from given data for one
revolution of cam.
Angle of Rise = 60 degrees where follower moves in uniform velocity
Angle of Dwell = 30 degrees
Angle of Fall = 60 degrees where follower moves in uniform velocity
For the remaining period of 210 degrees, the follower remains in the
same position.
Maximum follower lift of follower= 60 mm,
Base circle diameter of Cam =50 mm
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OR

C) Draw the cam profile for disc cam and knife edge follower from given data for one revolution of

cam.

Angle of Rise = 150 degrees where follower moves in simple harmonic motion, Angle of Dwell = 30
degrees, Angle of Fall = 120 degrees where follower moves in uniform velocity, Maximum follower

lift of follower = 60 mm, Least radius of Cam =25 mm.
D) Draw the cam profile of Question no-2C for same data.
OR
D) Draw the cam profile of Question no-2C (or) for same data.
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